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2 1z 241 3
i)aP x a9 = aPt9,e.g:23 X 23 = 23"3 = 23 = 23 =2

12 1.2 1
ii) (aP)4 = aP9 ,e.g: (32)3 = 3273 = 33

...y aP 11 3-5 -2
111)a—q= aP™1 e.g: =735 =715 = 715
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iv)aP x aP = (ab)P,e.g:135 x 175 = (13 x 17)s = 2215
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1 OPAVE
1)642=(82)2=8 2=81=28
= 1 3x— 1
ii) 1253 = (53)3 =5 =5—1:E
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iii) (3—3) =Gy =
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1 2 1 3 1 1
i) 325 ii) 325 ii) 23 x 2% iv) 72 X 8¢



PARHO PUNJAB, PARHAO PUNJAB-MATH TEAM(GURDASPUR)
Assignment - 6 Exercise - 1.6 Class - 9th
Laws of Exponents for real numbers:

Let a>o be areal number and p and q be rational numbers, then

.\ D 4 _ .p+q L2 r oz oz 3
i)aP x a9 = aP™ Je.g123 X 23 = 23"3 = 23 = 23 =2

12 1.2 1
ii) (aP)1 = aP9 ,e.g:(32)3 = 3273 = 33

...y aP 11 3-5 -2
111)a—q= aP~4 ,e.g: = 735 =715 = 715

N |\1
vl k]| Wik

1 1 1 1
iv)aP x aP = (ab)?,e.g: 135 x 175 = (13 x 17)s = 221s

Some Problems :-

1 1,1
1)642= (82)2=8 2=81=28

= = 3x= 1

ii) 1253 = (53) 3 =5 =51 = -

oy 17 1 1
i) )7 = 555 = 3=

Home Work:-

1 2 1 3 1 1
0)325 i) 325 iii) 23 x 2% iv) 7z x 82



